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QUESTION 1

Which of the following statements is true based on the Access Tracker output shown below?

Monitoring & Reporting = Live Monitoring » Access Tracker
Access Tracker ul 12, 2012 10:26:39 poOT

Data Filter: [All Requests] Server: Clearpass6 (10.254.1.176)

Date Range: Last 1 day before Today
Filter: [ Type T#) contains # ﬂ Show [ 10 4] records
Sarver Type User Service Name l.n'in Date i
10.254.1.176 RADIUS BC705AD65CFO REJECT 2012.»'-1'
10.254.1 ;

Request Detalls o

10.254.1
10.254.1  gummary  Input  Output m
10.254.1

Error Code: 204
10.254.1 . =

Error Category: Authentication failure
10.254.1

Error Message: Falled to classify request to service

10.254.1 ™ Alerts for this Request
20 RADIUS Service Categorization failed

A. The client wireless profile is incorrectly setup.

B. Clearpass does not have a service enabled for MAC authentication.

C. The client MAC address is not present in the Endpoints table in the Clearpass database.
D. The client used incorrect credentials to authenticate to the network.

E. The RADIUS client on the Windows server failed to categorize the service correctly.

Correct Answer: B

QUESTION 2

Refer to the screen capture. The following is seen in the Licensing tab of the Publisher after a cluster has been formed
between a publisher (192.168.0.53) and subscriber (192.168.0.54):
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Administration » Server Manager » Licensing

Licensing

S

Cluster License Summary

License Type Total Count Used Count
I 1 Policy Ma-r';a.éer 1000 0
2 ClearPass Enterprise 550 0
Note: The ClearPass Enterprise license count is

Server License Summary

Server License Type Total Count Used Count
I 1 192.168.0.53 Policy Mar-1-a-ger soo 0
2 192.168.0.53 ClearPass Enterprise 525 0
3 192.168.0.54 Policy Manager 500 0
4 192.168.0.54 ClearPass Enterprise 25 0

What is the maximum number of clients that can be Onboarded on the subscriber node?
A. 1000

B. 550

C.25

D. 525

E. 500

Correct Answer: B

QUESTION 3

Which of the following steps are required to use ClearPass as a TACACS+ Authentication server for a network device?
(Choose 2)

A. Configure the ClearPass Policy Manager as an Authentication server on the network device.
B. Configure ClearPass roles on the network device.

C. Configure RADIUS Enforcement Profile for the desired privilege level.

D. Configure TACACS Enforcement Profile for the desired privilege level.

E. Enable RADIUS accounting on the NAD device.
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Correct Answer: AD

QUESTION 4

Which of the following types of Posture Token sources are available on Clearpass? (Choose 2)
A. Posture Policy

B. Endpoint Profiler

C. Microsoft NPS Server

D. Active Directory

E. Aruba Controller

Correct Answer: AC

QUESTION 5

Which of the following ways are used by Clearpass to assign roles to the client? (Choose 2)
A. Through a role mapping policy.

B. Roles can be derived from the Aruba Network Access Device.

C. From the attributes configured in Active Directory.

D. From the attributes configured in a Network Access Device.

E. From the server derivation rule in the Aruba Controller server group for the client.

Correct Answer: AC
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